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Note :  Attempt all the following questions

question carries | mark.

1. G IW & 947 Hifsu—

Choose the correct answer °

@ = %A IR W e g AfuE S
sAfvrdE ¥2?
(@) F,
(b) Cl,
(P
('d'j Br, -
Which of the following is the strongest oxidising
agent :
(a) F,
(b) Cl,
(c) I,

(d) Hl_f
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T D Selected name of |UPAC for [FeF, (Oﬂt):] :

(a) diaquatetrifluroiron (111) 100

(@) Os |
(b) Pt (b) diaquatetrafluoroferrate (111) ion
(c) C (c) diaquatetrafluoroiron(l) on
c¢) Cu
| 1) ion
(d) Zn (d) diaquatetrafluoroferrate (1) 1
[n first transition series which has low Melting (v) AT T P st S
int : UECHISES
N +7 A oAfuw —
(a) Os .
a) An
(b) Pt {b N
(c) Cu (b) )
{d) Zn (c)

(@ sREa § A = A

(iii) [Feﬂ (OHE)zJ * fom JUPALT M 3 ey Which of the following actinides show oxidation
states upto +7?

fa T
(a) Am
(:f) diaguatetrifluroiron (I ion (b) Pu
(b) diaquatetrafluoroferrate (11} wn
(c) U
(c) diaquatetrafluoroiron(i} ion (d) None of the ahove
(d) diaquatetralluorolervate (1) ion
'I'q ¥ E
kA7 e H-5137

https://www.rdvvonline.com https://www.rdvvonline.com



151 6]
(v) T A BN o faemy g fafasH ¥ SEATF Sy @ GEARLI
{éﬁ A 27HFE Explain the polymerization process of Silicon.

14

(b) S WEH TATHIES 3. ggm 497 ¥ T ¥ e § gawrg seen W feuyh

(c) FHFIRE SES fafaa

(d) 3= |t Write short note on Magnetic Behaviour in context with
Which of the following is non aquous solvent? the first ransifion series.
(a) Liquid Amonia

(b) Liquid Sulfur dioxide
(c) Sulfuryl choloride

(d) All of these

4, TNTET QUHI] A1 STEURONT & IS0 "igd THE
FAST
Explain with example effective atomic number.

5., F¥EESs F guEE 1 3gH fafu auwEn

EU.E-EI Explain the ion exchange method of separation of
Section-B henides.
(g ST ) 5x3=15
(Short Answer Type Questions) 6 FRTT-AN Tagra w1 wfgwmr aviv wifsa
D= . Fraf aie 9 F I I F9F T 3 Explain in detail Bronsted lowry concept with example.

sl #T & | 1 7. FFH TAZT W & ROy ] wqp S
N Attempt any five (questionsy. Fach guestion
ote : c

s Explain Lux-Flood concepr of aeid base.
FH. .
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8. ''uve TRRE 9vE ANTERR V¥ afus guma v
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Explain with example "Later actinides exhibit more

similarity with later lanthenides.",

wQrs-g
Section-C
(rd Iwlg wew) 5x8=40
(Long Answer Type Questions)
Frz : fFET uie gy & Iav e §EF 5T 8
3f®l FT 81

Note : Aitempt any five questions. Each (FieeSTIOR

carries 8 marks.

o, frmifshaa @ ol fafEr— (FE 2D

(a) FE
(b) FeneE
(c) vt M AT

- — 1T I
(d) T w AT i 9q

TRy PTU
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Comment on the following : (any two)

(a) Fullerenes
(b) Zeolite
(c) Borazene or Borazole

(d) Bridge structure Hydrogen of Diborane

10, THTO HIg T F T T R0 F € 2 d-d S AEy
TIFAR0T HHAY TR
What is the cause of color in transition meta! elements?

Explain d-d and charge transfer transitions.

. T F Su-vEddema fGgra H A T
T oA ST

Explain Werner's co-ordination theory. Give s

experimental verification.

~12. #FEEE G5 W T gugn €2 dume & P W
Tl PN YE aEa § 7

What is Larithenide construction? How does I aflee

the properties of lanthenides.
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What do you understand by no aqueons solvents?

Explain protic and aprotic solvents with example.

14, T B ¥ S&—

(a) TEfram SEe F %9 TR T RS § e

4 |

(b) wTEifTel FoinEe U W FeERS ®9 WER

- ATFES ¥ W |

What happens when

(a) Potassium bromide is dissolved in liquid sulphur-

dio-oxide. https://www.rdvvonline.com

(b) Thiony! chloride and Caesium sulphide react in liquid

sulphur dioxide.
15. Freqfafgd W faoqofy FfSIC—
(a) A T
(b) ETAH
(c) fg& A7
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(d) dRfasd ST
Explain the following : (any two) |
(a) lonization isomerism
(b) Chelation
(c) Doubie sait
(d) Pourbaix diagram
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